HW 4.4 Key

1. Matt purchases a 23-year par value bond with 10% semiannual coupons at a price of 1522.11. The bond
can be called at par value X on any coupon date starting at the end of year 11. The price guarantees that
Matt will receive a nominal semiannual yield of at least 7%. Bert purchases a 23-year par value bond
identical to the one purchased by Matt except it is not callable. Assuming a nominal semiannual yield of
7%, the cost of the bond purchased by Bert is P. Calculate P. [7.f#01]
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2. An investor purchases a 1000 bond redeemable at par that pays 9% semiannual coupons and matures in
16 years. The bond will yield 6% convertible semiannually to maturity. If the bond is called in 9 years,
the minimum redemption value the investor needs to realize the same yield is X. Determine X. [7.f#02]
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. An investor bought a 17-year bond with par value of 100,000 and 7% semiannual coupons. The bond is
callable at par on any coupon date beginning with coupon number 16. Find the highest price paid that
will yield a rate not less than i® = 9%. [7.f#03]
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4. An investor bought a 1000 par value bond with 7.5% annual coupons. The maturity date was exactly 18
years alter the purchase date and the redemption value was to be equal to the par value. The bond was

purchased at a premium to yield 6% per annum. 3 years later, just after payment of the coupon, the bond

L/ was called in at 102.8% of par value. What was the investor's rate of return on his investment? [7.f
#04]
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5. A 1000 par value, 9% bond with quarterly coupons is called 7 years after issue. The bond matures for
1000 at the end of 12 years and is sold to yield a nominal rate of 7% compounded quarterly under the
assumption that the bond will not be called. Calculate the redemption value, at the the end of 7 years,
that will yield the purchaser the same nominal rate of 7% compounded quarterly. [7.f #05]
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